191 7,313ha
5 314ha
170 6,978ha
13 428ha
110 4 155ha
2 292ha
H19 H0 1 H2 H3 H4 H3 H6 7 H8 H9 s P9
91 105 111 120 128 144 156 16 191 196 191 -5
(ha) 5, 54 5, 782 5, 960 6, 156 6, 302 6, 462 6, 672 6,8 4 7,547 7,627 7 313 -314
H19 H20 H1 H22 H23 H4 H3 H26 H7 H8 H29 =
91 105 111 120 128 144 156 16 179 183 170 -13
(ha) 5, 54 5, 782 5, 960 6, 156 6, 302 6, 462 6, 672 6,78 7,348 7, 406 6 978 -428
H19 H20 H1 H22 H23 H4 H3 H26 H7 H8 H29 =
93 43 75 91 93 102 108 110 2
(ha) 1,192 2,258 3, 404 3,59 3,736 3,863 4 155 292

H19 H25
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(ha) [€:E- 18]
9,000 250
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7.000 =00
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7,000 r 200
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| 150
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1,000 I
0 Lo
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H19 H25
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5 R = At EE(ha)
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